Example: Find the **Proof** of:

 $x^2 + 6x + 9$

Example: Find the **Proof** of:

 $x^2 + 6x + 9$

Recall: The roots (also called zeroes) are the values of x so that:

$$x^2 + 6x + 9 = 0$$

Example: Find the **Proof** of:

 $x^2 + 6x + 9$

Recall: The roots (also called zeroes) are the values of x so that:

$$x^2 + 6x + 9 = 0$$

To solve this equation, we need to • Factor :

Example: Find the **Proof** of:

 $x^2 + 6x + 9$

Recall: The roots (also called zeroes) are the values of x so that:

$$x^2 + 6x + 9 = 0$$

To solve this equation, we need to Factor: $x^2 + 6x + 9 = (x + 3)(x + 3)$

Example: Find the **Proof** of:

 $x^2 + 6x + 9$

Recall: The roots (also called zeroes) are the values of x so that:

$$x^2 + 6x + 9 = 0$$

To solve this equation, we need to Factor: $x^2 + 6x + 9 = (x + 3)(x + 3)$ We want to know when this is 0:

Example: Find the **Proof** of:

 $x^2 + 6x + 9$

Recall: The roots (also called zeroes) are the values of x so that:

$$x^2 + 6x + 9 = 0$$

To solve this equation, we need to Factor: $x^2 + 6x + 9 = (x + 3)(x + 3)$ We want to know when this is 0:

 $(x+3)\cdot(x+3)=0$

Example: Find the **Proof** of:

 $x^2 + 6x + 9$

Recall: The roots (also called zeroes) are the values of x so that:

$$x^2 + 6x + 9 = 0$$

To solve this equation, we need to Factor: $x^2 + 6x + 9 = (x + 3)(x + 3)$ We want to know when this is 0:

 $(x+3)\cdot(x+3)=0$

By the \bullet Zero-Product Property either: (x + 3) = 0 OR (x + 3) = 0

Example: Find the **Proof** of:

 $x^2 + 6x + 9$

Recall: The roots (also called zeroes) are the values of x so that:

$$x^2 + 6x + 9 = 0$$

To solve this equation, we need to Factor: $x^2 + 6x + 9 = (x + 3)(x + 3)$ We want to know when this is 0:

 $(x + 3) \cdot (x + 3) = 0$ By the \checkmark Zero-Product Property either: (x + 3) = 0 OR (x + 3) = 0Solving each of these equations, we get: x = -3 OR -3

Example: Find the **Proof** of:

 $x^2 + 6x + 9$

Recall: The roots (also called zeroes) are the values of x so that:

$$x^2 + 6x + 9 = 0$$

To solve this equation, we need to Factor: $x^2 + 6x + 9 = (x + 3)(x + 3)$ We want to know when this is 0:

 $(x + 3) \cdot (x + 3) = 0$ By the \checkmark Zero-Product Property either: (x + 3) = 0 OR (x + 3) = 0Solving each of these equations, we get: x = -3 OR -3**Conclusion:** The roots to $x^2 + 6x + 9$ are: x = -3, -3

Example: Find the **Proof** of:

 $x^2 + 6x + 9$

Recall: The roots (also called zeroes) are the values of x so that:

$$x^2 + 6x + 9 = 0$$

To solve this equation, we need to Factor: $x^2 + 6x + 9 = (x + 3)(x + 3)$ We want to know when this is 0:

 $(x + 3) \cdot (x + 3) = 0$ By the \bullet Zero-Product Property either: (x + 3) = 0 OR (x + 3) = 0Solving each of these equations, we get: x = -3 OR -3**Conclusion:** The roots to $x^2 + 6x + 9$ are: x = -3, -3Here we have just one distinct root, -3, but it shows up in both factors.

Example: Find the **Proof** of:

 $x^2 + 6x + 9$

Recall: The roots (also called zeroes) are the values of x so that:

$$x^2 + 6x + 9 = 0$$

To solve this equation, we need to Factor: $x^2 + 6x + 9 = (x + 3)(x + 3)$ We want to know when this is 0:

 $(x + 3) \cdot (x + 3) = 0$ By the Zero-Product Property either: (x + 3) = 0 OR (x + 3) = 0Solving each of these equations, we get: x = -3 OR -3**Conclusion:** The roots to $x^2 + 6x + 9$ are: x = -3, -3Here we have just one distinct root, -3, but it shows up in both factors. To capture this, we say that -3 is a roots to $x^2 + 6x + 9$ of multiplicity 2